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2) Each question carries 2 mark.
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mark on the Answer Sheet.
5) Follow the instructions given on OMR Sheet.
6) Rough work shall be done on the sheet provided at the end of question

paper.
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1) The difference between production at market price and basic price is due to

A) Depreciation

B) Net factor income from abroad

C) Indirect taxes and subsidies

D) Net transfers between countries

~mOma qH$‘Vrg AgUmao Am{U AmYma (‘yi) qH$‘Vrg AgUmao CËnmXZ ¶mV ’$aH$ AgÊ¶mMo H$maU
..................

A) Kgmam

~) {dXoemVyZ {Zìdi KQ>H$ CËnÞ

H$) AàË¶j H$a d A§eXmZo

S>) Xoem‘Yrb Z³V hñVm§VaU
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2) Assuming constant returns to scale. which of the following statements about
production function not correct?

A) If we increase capital and labour ten times, production also increases ten
time

B) The marginal product always increases as we increase inputs

C) Production increases if we increase the input of capital

D) A higher level of capital increases the marginal product of labour

pñWa CËnmXZ à‘mU J¥hrV YaVm Imbrbn¡H$s H$moUVo {dYmZ CËnmXZ ’$bZm~m~V ~amo~a Zmhr?

A) AmnU ^m§S>db d l‘ XhmnQ> dmT>dbo Va CËnmXZ Xhm nQ> dmT>Vo.

~) AmXmZm§À¶m dmT>r~amo~a gr‘m§V CËnmXZ Zoh‘r dmT>Vo.

H$) ^m§S>dbr AmXmZ dmT>dë¶mg CËnmXZ dmT>Vo.

S>) ^m§S>dbmMr Cƒ nmVir l‘mMo gr‘m§V CËnmXZ dmT>dVo.

3) Which of the following is likely to have negative effect on consumption?

A) An increase in expected inflation

B) A temporary increase in labour income

C) An increase in nominal interest rate

D) The assets that the consumers hold in value

Cn^moJmda Imbrbn¡H$s H$moUË¶m KQ>H$mMm ZH$mamË‘H$ n[aUm‘ hmoVmo?

A) Ano{jV ̂ mddmT>rV dmT>

~) l‘mÀ¶m VmËnwaË¶m CËnÞmV dmT>

H$) ì¶mO XamV dmT>

S>) J«mhH$mH$S>o Agboë¶m ‘ÎmoMo ‘yë¶
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4) The price of money next year in terms of money this year is_________?

A) One plus the real interest rate

B) One plus the nominal interest rate

C) One divided by one plus the real interest rate

D) One divided by one plus the nominal interest rate

nwT>rb dfm©À¶m n¡emMo ‘yë¶ Mmby dfm©À¶m ‘yë¶mV ..................?

A) EH$ A{YH$ dmñVd ì¶mO Xa

~) EH$ A{YH$ Mmby ì¶mO Xa

H$) EH$ ^mJrbo EH$ A{YH$ dmñVd ì¶mO Xa

S>) EH$ ^mJrbo EH$ A{YH$ ~mOma ì¶mO Xa

5) Which of the following has a positive impact on Investment?

A) An increase in the nominal interest rate

B) A higher capital stock

C) An expected decline in the demand for goods

D) An increase in expected inflation with unchanged nominal interest rate

Imbrbn¡H$s H$moUË¶m KQ>H$mMm Jw§VdUyH$sda gH$mamË‘H$ n[aUm‘ hmoVmo?

A) ~mOma ì¶mOXamV dmT>

~) CƒVa ^m§S>db gmR>m

H$) dñVy ‘mJUrV Ano{jV KQ>

S>) ~mOma ì¶mO Xa Z ~XbVm Ano{jV ^mddmT>rV dmT>
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6) The slope of an ISOCOST line C = P
K
K + P

L
L is

A) (–P
L
/P

K
) B) (–P

K
/P

L
)

C) (C/PK) D) (–C/PK)

Oa C = PKK + PLL Agob Va g‘IM© aofoMm CVma ..................

A) (–P
L
/P

K
) ~) (–P

K
/P

L
)

H$) (C/P
K
) S>) (–C/P

K
)

7) A reduced form equation expresses the endogenous variables as an explicit
function of

A) Endogenous variables B) Exogenous variables

C) Both A & B D) None

~{hOm©V MbmMo CKS> ’$bZ KQ>rV gyÌm‘Ü¶o ..................

A) A§VOm©V Mb ~) ~{hOm©V Mb

H$) A Am{U ~ S>) Cnamoº$ Zmhr

8) The IS schedule is the locus of points representing all the different combinations
of interest rates and income levels consistent with equilibrium in

A) Money market B) Goods(Commodity) market

C) Both A & B D) None

ì¶mOXa Am{U CËnÞ nmVir ¶m§Mo {d{dY g§¶moJ Xe©dUmao Jw§VdUyH$ ~MV gyMr .................. ‘Ü¶o
g§VwbZ Xe©dVo.

A) ZmUo ~mOma ~) dñVy ~mOma

H$) A Am{U ~ S>) Cnamoº$ Zmhr
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9) The transformation curve is also known as

A) Demand curve B) ISOCOST curve

C) Production- Possibilities curve D) Supply curve

ê$nm§VaU dH«$mg .................. Agohr åhUVmV.

A) ‘mJUr dH«$ ~) g‘IM© aofm

H$) CËnmXZ e³¶Vm dH«$ S>) nwadR>m dH«$

10) If Y = C + I, C = 50 + 0.8Y and Io= 50, then the equilibrium level of income
will be

A) 50 B) 60

C) 500 D) 600

Oa Y = C + I Agob d C = 50 + 0.8y Am{U Io =  50 Agob Va g§VwbZ CËnÞ nmVir
..................

A) 50 ~) 60

H$) 500 S>) 600

11) For a continuous Supply function S(x) at x = a, which of the following
conditions should conditions should hold true?

A) S(x) is defined at x = a

B) Lim S(x) as x tends to ‘a’ exists

C) Lim S(x) as x tends to ‘a’ = S (a)

D) All of the above

Oa S(x) d x = a Agob gmVË¶nyU© nwadR>m ’$bZmg Imbrbn¡H$s H$moUVr AQ> gË¶ AgUo Amdí¶H$
Amho?

A) S(x) ho x = a ¶oWo {ZpíMV hmoVo

~) ‘¶m©Xm S(x) Ooìhm x ho ‘a’ H$S>o OmVo

H$) ‘¶m©Xm S(x) Ooìhm x ho ‘a’ = S (a)

S>) darb gd©
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12) A demand function F(x) is said to be decreasing at x = a if

A) F' (a) > 0 B) F' (a) = 0

C) F' (a) < 0 D) F' (a) = 1

j Mo ‘mJUr ’$bZ F(x) ho x = a Ago KQ>V OmUmao AgVo. Ooìhm ..................

A) F' (a) > 0 ~) F' (a) = 0

H$) F' (a) < 0 S>) F' (a) = 1

13) Agricultural production Economics is Concerned/deals with _________.

A) Resource Combination and Allocation

B) Resource management and Administration

C) Resource Use efficiency

D) All of these

H¥$fr CËnmXZ AW©emó .................. g§~§{YV AgVo.

A) g§gmYZ g‘wƒ¶ d dmQ>n ~) g§gmYZ ì¶dñWmnZ d {Z¶‘Z

H$) g§gmYZ dmna H$m¶©j‘Vm S>) darb gd©

14) Scope of resource allocation and marginal Productivity analysis is the subject
matter of agricultural production economics

A) True B) False

C) Partly True D) Depends on context

H¥$fr CËnmXZ AW©emó ¶m‘Ü¶o gmYZ dmQ>n Am{U gr‘m§V CËnmXH$Vm ¶m§Mm g‘mdoe hmoVmo.

A) ~amo~a ~) MyH$

H$) A§eV… ~amo~a S>) g§X^m©da Adb§~yZ
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15) A systematic and mathematical way of measuring the relationship among the
different quantities of input in production and its corresponding output is
called

A) Productivity B) Marginal efficiency of production
C) Elasticity of production D) Production

CËnmXZmgmR>r {Z{dï>r Am{U Ë¶mMo ’${bV CËnmXZ ¶m§À¶mV AgUmè¶m g§~§YmMo ì¶dpñWV d J{UVr ‘mnZ
nÕV åhUOo ..................

A) CËnmXH$Vm ~) CËnmXZmMr gr‘m§V H$m¶©j‘Vm

H$) CËnmXZmMr bd{MH$Vm S>) CËnmXZ

16) The quantity which have different values in production function

A) Semi variables B) Variables

C) Constants D) None of these

CËnmXZ ’$bZmV {^Þ amer ‘yë¶ AgUmao ..................

A) AY© Mb ~) Mb

H$) pñWaH$ S>) darbn¡H$s Zmhr

17) The variable whose value is independent of another variable is known as
_________.

A) Dependent variable B) Invariable

C) Independent variable D) All of these

Á¶m MbmMo ‘yë¶ BVa Mbm§À¶m ‘yë¶mer ñdV§Ì AgVo Ë¶mbm .................. åhUVmV.

A) AmlrV Mb ~) AMb

H$) ñdV§Ì Mb S>) darb gd©
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18) Which among following are the broad type of input to measure Farm Efficiency

A) Financial efficiency measures B) Physical Efficiency Measures

C) A and B D) None of these

H¥$fr H$m¶©j‘Vm ‘mnZmg Imbrbn¡H$s H$emMm dmna H$aVmV?

A) {dÎmr¶ H$m¶©j‘Vm ‘mnZ ~) dñVwén H$m¶©j‘Vm ‘mnZ

H$) A Am{U ~ S>) darbn¡H$s H$moUVohr Zmhr

19) Who introduced the ‘Five Year Plans’ in India?

A) Mahatma Gandhi B) Jawaharlal Nehru

C) Dr. Sarvepalli Radhakrisnan D) Max Mular

^maVmV n§Mdm{f©H$ ¶moOZm H$moUr gwé Ho$ë¶m?

A) ‘hmË‘m Jm§Yr ~) Odmhabmb Zohê$

H$) S>m°. gd©n„r amYmH¥$îUZ S>) ‘°³g ‘yba

20) Which type of Economic System is followed in India?

A) Free economy B) Mixed economy

C) Command Economy D) Free-market economy

Imbrbn¡H$s H$moUVr Am{W©H$ ì¶dñWm ^maVmV dmnamV Amho?

A) ‘yº$ AW©ì¶dñWm ~) {‘l AW©ì¶dñWm

H$) AmXo{eV AW©ì¶dñWm S>) ‘wº$-~mOma AW©ì¶dñWm

21) Who is the current CEO of the NITI Aayog?

A) Rajeev Kumar B) Arvind Subramanyam

C) Amitabh Kant D) Narendra Modi

ZrVr Am¶moJmMo gÜ¶mMo grB©Amo H$moU AmhoV?

A) amOrd Hw$‘ma ~) AaqdX gw~«åhÊ¶‘

H$) A{‘Vm^ H$m§V S>) Za|Ð ‘moXr
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22) Which of the following is not the function of the NITI Aayog?

A) To evolve a shared vision of national development priorities sectors and
strategies

B) To foster cooperative federalism

C) To give final approval to the Five Year Plans of India

D) To create a knowledge, innovation and entrepreneurial support system

Imbrbn¡H$s H$moUVo ZrVr Am¶moJmMo H$m¶© Zmhr?

A) àmYmÝ¶joÌmMm {dH$mg d ì¶whaMZm ¶m~m~V gh^mJr Ñï>rH$moZ {dH${gV H$aUo

~) ghH$mar g§KdmX {dH${gV H$aUo

H$) ^maVmÀ¶m n§Mdm{f©H$ ¶moOZm§Zm A§{V‘ ‘mÝ¶Vm XoUo

S>) kmZ, Zm{dÊ¶ d ZdàdV©H$ AmYma ì¶dñWm H$aUo

23) Which of the following sector does not comes under the service sector in
India?

A) Real estate B) Transport

C) Restaurants & hotels D) Formation of electronic television

^maVmVrb godm joÌmV Imbrbn¡H$s H$moUVo joÌ g‘m{dï> ZgVo?

A) ñWmda {‘iH$V ~) dmhVyH$

H$) aoñQ>m°a§Q> d hm°Q>ob S>) Bbo³Q́>m°{ZH$ Q>obo{dOZ {Z‘m©U

24) In a Cobb-Douglas production function Q=f(K,L), if Marginal Rate of
Technical Substitution(MRTS) is obtained as negative, then it implies that

A) L and K are non-substitutable among themselves

B) L and K are to be increased simultaneously

C) L and K are indeterminate

D) An decrease in L should be compensated by a increase in K

Oa H$m°~ S>½bg CËnmXZ ’$bZmV Q=f(K,L) Oa gr‘m§V Vm§{ÌH$ n¶m©¶Vm Xa Oa CUo Agob Va, Ë¶mMm
AW© ...................

A) L Am{U K ho nañnamV n¶m©¶r ZmhrV ~) L Am{U K ho EH$mM doir dmT>VmV

H$) L Am{U K ho A{ZpíMV AmhoV S>) L ‘Yrb dmT> K À¶m KQ>rZo ^ê$Z {ZKVo
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25) In constrained Optimization problems the Langrangian Multiplier (λ)
approximates the marginal impact on the objective function caused by a small
change in

A) Independent Variable B) Dependent Variable

C) Constant in the Constraint D) All of the above

~§{YV n¶m©árH$aUmÀ¶m g‘ñ¶oV ................... À¶m Aën~XbmZo hmoUmè¶m ~XbmMo dñVw{Zð> ’$bZmdarb
n[aUm‘m¶ b°Jo[a¶Z JwUH$ g‘Z{OH$Vm H$aVmo.

A) ñdV§Ì Mb ~) AmlrV Mb

H$) ~§{XñVmVrb pñWa S>) darb gd©

26) We review the relevant literature to know:

A) What is already known about the topic

B) What concepts and theories have been applied to the topic

C) Who are the key contributors to the topic

D) All of the above

AmnU g§X ©̂ gm{hË¶ nwZ{d©bmoH$sV H$aVmo H$maU

A) {df¶m~m~VMr nydu kmZ Agbobr ‘m{hVr

~) H$moUË¶m g§H$ënZm, {gÕm§V {df¶m~m~V dmnaÊ¶mV Amë¶m

H$) {df¶m~m~V ‘hÎdmMo ¶moJXmZ H$moUVo Amho

S>) darb gd©

27) Ex-post facto research does not have control over

A) Relations B) Manifestation

C) Variables D) Influences

KQ>rV níMmV g§emoYZmV ................... {Z¶§ÌU ZgVo.

A) g§~§Y ~) n[aUm‘ ñdéno

H$) Mbo S>) à^mdo
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28) Schedule is a technique of collecting data through

A) Post B) Telephone

C) An enumerator D) Observation

VÏ¶ g§H$bZmgmR>r ................... ‘m’©$V gyMr dmnabr OmVo.

A) nmoñQ> ~) Q>obr’$moZ

H$) {díbofH$ S>) {ZarjU

29) Non Directional Hypothesis that is tested for its rejection is called

A) Alternative B) Null

C) Statistical Inference D) None of the above

ZH$mamgmR>r Vnmgbo OmUmao {XemahrV J¥hrV åhUOo ...................

A) n¶m©¶r ~) Zb

H$) g§»¶memór¶ {ZîH$f© S>) darbn¡H$s Zmhr

30) Research in which the independent variable is manipulated is termed
_________.

A) Non-experimental hypothesis-testing research

B) Experimental hypothesis-testing research

C) Time series

D) Exploratory research

Á¶m g§emoYZmV ñdV§ÌMbmV ~Xb Ho$bo OmVmV Ë¶mg ................... åhUVmV.

A) Aà¶mo{JH$ J¥hrV MmMUr g§emoYZ ~) à¶mo{JH$ J¥hrV MmMUr g§emoYZ

H$) H$mb loUr S>) g§emoYZmË‘H$
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31) Variables that are not related to the purpose of the study, but may affect the
outcome of the study are termed as _________ variable.

A) Independent B) Dependent

C) Extraneous D) None of the above

Á¶m Mbm§Mm Aä¶mg{df¶mer g§~§Y Zgbo na§Vw Aä¶mg {ZîH$fm©da n[aUm‘ hmoD$ eH$Vmo Ë¶mg
................... Mb åhUVmV.

A) ñdV§Ì ~) AmlrV

H$) nañW S>) darbn¡H$s Zmhr

32) In an experimental hypothesis-testing research when a group is exposed to
usual condition, it is termed as _________ group.

A) Experimental B) Control

C) Treatment D) Quasi-Experimental

à¶moJ{Zð> J¥hrVH$ VnmgUr, g§emoYZmV Á¶m JQ>mg gd©gmYmaU pñWVrV Aä¶mgVmV Ë¶mg ...................
JQ> åhUVmV.

A) à¶mo{JH$ ~) {Z¶§{ÌV

H$) dmJUyH$ S>) AY©-à¶mo{JH$

33) ______________ is formal experimental design.

A) Before-and - After without control design

B) After- only with control design

C) Before-and - After with control design

D) Completely randomized design

................... Am¡nMm[aH$ àm¶mo{JH$ AmamIS>m Amho.

A) {Z¶§ÌU AmamIS>çm{edm¶ nydu d Z§Va ~) Z§Va ’$º$ {Z¶§ÌU AmamIS>çmgh

H$) {Z¶§ÌU AmamIS>çmgh nydu d Z§Va S>) nyU©V… ¶mÑpÀN>H$ Z‘wZm
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34) _____________ the population is divided into several sub-population that
are individual more homogeneous than total population.

A) Random sampling B) Systematic sampling

C) Stratified sampling D) Cluster Sampling

................... àË¶oH$ Cng§MmV g‘mZ d¡{eï>ço AgUmao JQ>mV Aä¶mg {df¶mVrb KQ>H$m§Mo JQ> Ho$bo
OmVmV.

A) ¶mÑpÀN>H$ Z‘wZm ~)  {eñV~Õ Z‘wZm

H$) ñV[aV Z‘wZm S>) nw§O Z‘wZm

35) Sampling is to select every ith item of on a list then it is called a _________.

A) Random sampling B) Systematic sampling

C) Stratified sampling D) Cluster sampling

¶mXrVrb àË¶oH$ ith KQ>H$ Z‘wZm {ZdS>Uo ¶mbm ................... åhUVmV.

A) ¶mÑpÀN>H$ Z‘wZm ~) {eñV~Õ Z‘wZm

H$) ñV[aV Z‘wZm S>) n§wO Z‘wZm

36) ____________ is the least powerful level of measurement.

A) Nominal scale B) Ordinal scale

C) Interval scale D) Ration scale

................... ho ‘mnZmMo gdm©V H$‘r gm‘Ï¶©dmZ Amho.

A) A§H$ loUr ~) XOm© loUr

H$) I§S> loUr S>) {Z¶§{ÌV loUr
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37) The primary limitation of the interval scale is the lack of a _________.

A) Arbitrary zero B) Absolute zero

C) All the above D) None of the Above

I§S> loUrMr àmW{‘H$ ‘¶m©Xm ................... Mm A^md.

A) A§Xm{OV eyÝ¶ ~) {Zìdi eyÝ¶

H$) darb gd© S>) darb H$moUVohr Zmhr

38) _______ is the extent to which a measuring instrument provides adequate
coverage of the topic under study.

A) Content validity B) Criterion-related validity

C) Construct validity D) Total Validity

................... ‘Ü¶o Aä¶mg {df¶mÀ¶m ‘mnZ gmYZmMm nwaogm g‘mdoe hmoVm ¶mMo à‘mU g‘OVo.

A) KQ>H$ dmñVdVm ~) {ZH$f g§~§Yr dmñVdVm

H$) aMZm dmñVdVm S>) EHy$U dmñVdVm

39 If measuring instruments provides consistent results then it is called as
______________ of instrument.

A) Validity B) Reliability

C) Practicality D) Accuracy

Oa ‘mnZ gmYZ gmVË¶mZo gwg§JV n[aUm‘ XoV Agë¶mg Ë¶mg ................... gmYZ åhUVmV.

A) dmñVdVm ~) {dídgZr¶Vm

H$) ì¶mdhm[aH$Vm S>) AMyH$Vm
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40) What is a research design?

A) A way of conducting research that is not grounded in theory.

B) The choice between using qualitative or quantitative methods.

C) The style in which you present your research findings, e.g. a graph.

D) A framework for every stage of the collection and analysis of data

g§emoYZ AmamIS>m åhUOo H$m?

A) {gÕm§VmV Zgbobo g§emoYZ H$aÊ¶mMr nÕV

~) JwUmË‘H$ qH$dm g§»¶mË‘H$ nÕV {ZdS>Ê¶mMr nÕV

H$) g§emoYZ {ZîH$f© ‘m§S>Ê¶mMr CXm AmboI nÕV

S>) àË¶oH$ Q>ßß¶mda VÏ¶ g§H$bZ d {díbofU H$aÊ¶mMm AmamIS>m

41) “Internal validity” refers to:

A) whether or not there is really a causal relationship between two variables.

B) whether or not the findings are relevant to the researchers’ everyday
lives.

C) the extent to which the researcher believes that this was a worthwhile
project.

D) how accurately the measurements represent underlying concepts.

"A§VJ©V ¶mo½¶Vm' åhUOo -

A) XmoZ Mbm‘Ü¶o IamoIa H$maU n[aUm‘ g§~§Y hmoVm H$m Zmhr

~) g§emoYZmMo ’$m¶Xo X¡Z§{XZ OrdZmV gd©gm‘mÝ¶mg Cn¶wº$ AmhoV H$m ZmhrV

H$) g§emoYH$mg gXa àH$ën {H$Vr à‘mUmV ¶mo½¶ dmQ>Vmo

S>) {H$Vr à‘mUmV g§H$ënZm§Mo ‘mnZ AMyH$nUo Ho$bo OmVo
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42) An operational definition is:

A) one that bears no relation to the underlying concept.

B) an abstract, theoretical definition of a concept.

C) a definition of a concept in terms of specific, empirical measures.

D) one that refers to opera singers and their work.

n[aMmbZmË‘H$ ì¶m»¶m åhUOo -

A) Aer Or g§H$ënZoer g§~§YrV ZgVo

~) g§H$ënZoMr A‘yV©, g¡Õm§{VH$ ì¶m»¶m

H$) g§H$ënZoMr {d{eï>, ì¶dhma{Zð> ì¶m»¶m

S>) Am°noam Jm¶H$ d Ë¶mÀ¶m H$m¶m©er g§~§{YV

43) The difference between a measure and an indicator is that:

A) measures are unambiguous quantities, whereas indicators are devised
from common sense understandings.

B) indicators have a more direct relationship to the underlying concept than
measures.

C) indicators are unmistakable quantities, whereas measures are subjective
and value-laden.

D) measures are devised and then applied as if they were direct indicators
of a concept.

‘mnH$ Am{U Xe©H$ ¶mVrb ’$aH$ åhUOo

A) ‘mnH$ ho ñnï> ‘mÌm AgVo Va Xe©H$ gd©gm‘mÝ¶ g‘OyVrVyZ ¶oVmV

~) Xe©H$mMm g§~§{YV g§H$ënZoer ‘mnH$mnojm gai g§~§Y AgVmo

H$) Xe©H$ ho AMyH$ ‘mÌm AgVmV Va ‘mnH$ ho ì¶{º${Zð> AgVo

S>) g§H$ënZoMo gai Xe©H$ åhUyZ ‘mnH$ V¶ma H$ê$Z dmnabo OmVmV
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44) Action research means
A) longitudinal research
B) An applied research
C) A research initiated to solve an immediate problem
D) A research with socioeconomic objective
H¥$Vrerb g§emoYZ åhUOo -
A) XrKm©dYr g§emoYZ ~) ì¶dhm¶© g§emoYZ
H$) VËH$mbrZ àíZ gmoS>dÊ¶mg Ho$bobo g§emoYZ S>) gm‘m{OH$ Am{W©H$ C{Ôï>o Agbobo g§emoYZ

45) What is the difference between a bar chart and a histogram?
A) Bar charts represent numbers, whereas histograms represent percentages.
B) A histogram does not show the entire range of scores in a distribution.
C) There are no gaps between the bars on a histogram.
D) Bar charts are circular, whereas histograms are square.
ñV§̂ mboI d nÅ>raoIm{MÌ ¶mV H$moUVm ’$aH$ Amho?
A) nÅ>raoIm{MÌmV g§»¶m AgVo Va ñV§̂ mboImV Q> o̧$dmar AgVo
~) ñV§̂ mboImV {dVaUmVrb g§nyU© ì¶már Xe©dbobr ZgVo
H$) ñV§̂ mboImVrb nÅ>r‘Ü¶o A§Va ZgVo
S>) nÅ>raoIm{MÌ JmobmH$ma Va ñV§̂ mboI Mm¡H$moZr AgVmV

46) If there were a perfect positive correlation between two interval/ratio variables,
the Pearson's r test would give a correlation coefficient of:
A) – 0.328 B) + 1
C) + 0.328 D) – 1
Oa XmoZ MbmV YZmË‘H$ nyU© g§~§Y Agob Va {nAg©ZÀ¶m MmMUrV ghg§~§Y ghJwUm§H$ ...........
AgVmo.
A) – 0.328 ~) + 1
H$) + 0.328 S>) – 1

47) What is the name of the test that is used to assess the relationship between
two ordinal variables?
A) Spearman’s rho B) Allergy
C) Cramer’s V D) Chi Square
XmoZ H«$‘dmMH$ MbmVrb g§~§Y Aä¶mgÊ¶mg H$moUVr MmMUr dmnabr OmVo?
A) ñna‘Z èhmo ~) AbOu
H$) H«°$‘aMm ìhr S>) H$m¶ ñ³doa
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48) Setting the p level at 0.01 increases the chances of making a:

A) Type I error B) Type II error

C) Type III error D) All of the above

Oa P nmVir 0.01 R>odbr Va .................. e³¶Vm dmT>Vo.

A) à‘mX àH$ma I ~) à‘mX àH$ma II

H$) à‘mX àH$ma III S>) darb gd©

49) Snowball sampling is

A) All of the below

B) A form of convenience sampling

C) Not a random sampling approach

D) A method where the researcher makes contact with a small group of
people and uses them to make contact with others.

ñZmo~m°b Z‘wZm åhUOo -

A) Imbrb gd©

~) gmoB©ñH$a Z‘wZm {ZdS>rMr EH$ nÕV

H$) ¶mÑÀN>rH$ Z‘wZm {ZdS> Zìho

S>) Á¶m nÕVrV g§emoYH$ N>moQ>çm JQ>mer g§nH©$ gmYVmo d Ë¶m§Mm BVam§er g§nH©$ H$aÊ¶mg dmna H$aVmo

50) “Tuning of a scale increases in sophistication, so does the power of the scale”.
What is therefore the least powerful scale?

A) A nominal scale. B) An ordinal scale.

C) An interval scale. D) A ratio scale.

""‘mnZmMo Q>çwqZJ dmT>ë¶mg n[aîH¥$VVm VgoM ‘mnZmMr j‘Vm dmT>Vo'' Va gdm©V H$‘r j‘VoMo ‘mnZ
H$moUVo?

A) Zm‘‘mÌ à‘mU ~) H«$‘dmMH$ à‘mU

H$) I§S>rV à‘mU S>) JwUmoÎma à‘mU


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